BK-10247A |

BK-12130A BK-10249A

B

1. (EREREYT]HEF -
J 2. EETHIAR - SIBEIS -
- 3. RIEE  RFERRS - BWHE -

4. BR57138 - BEAYRR - BiLE TIEFMBAI -

BK-10101A 5. BRARSNEWRAEIFIER - HANREN
HERR  TFOMEZRENT.. FBS -

BK-36301A

ABRIE At

o o | BEOE ﬁﬁ[ﬁﬂ‘ﬁx{mﬁiﬂﬁ B A7)
mm

BK-36003A cm? kgf/cm?® kg
| BK-10101A 20 3.14 10 50

= : BK-12050A 30 7.07 10 91
=3 BK-12130A 30 7.07 10 227
BK-12132A 30 7.07 10 227

BK-12265A 40 12.56 10 340

\ BK-12275A 40 12.56 10 340

] BK-10247A 50 19.62 10 450

i s BK-10249A 50 19.62 10 450
. BK-36301A 20 3.14 10 45
/[ emene BK-36003A 30 7.07 10 272
: BK-36330A 40 12.56 10 1136
BK-305EA 30 7.07 10 386

F I BK-702CA 30 7.07 10 200
K BK-702DA 40 12.56 10 500

I 1

ECEER
BK-10101A | 168.5 | 40.7 | 24 |10-24X1-3/8| 17.5 | 238 | 159 | 32 | 36.7 | PT1/8

BK-12050A 185 65.7 35  |1/4-20X1-3/4 27 27 12.7 9.2 49.4 | PT1/8"

BK-12130A 236.5 75.4 68 |5/16-18X2-1/2| 33.9 32 19 7.1 52.4 | PT1/8"
BK-12132A 260 75.3 88 |5/16-18X2-1/2| 34.2 32 19 i 52.4 | PT1/8"
BK-12265A 392 93.7 | B8.2 |3/8-16X3-1/2| 44.2 | 45,2 31.8 8.3 73 PT1/8"
BK-12275A 302 93.7 | 88.2 |3/8-16X3-1/2| 44.2 | 45.2 31.8 8.3 73 PT1/8"

BK-10247A 407 110 | 114.8 | 1/2-13X3 | 55.3 45.2 31.8 8.3 86. 1 PT1/8"

BK-102489A 407 110 114.8 | 1/2-13X3 | 55.3 45,2 31.8 8.3 86.1 PT1/8"

® BK-10247A 37530 (URZ) B%E » BK-10249ARE 3, (Fik) B7E -



HERIE

/ =
Ko f/ = S S s B
¥| o] S| {55 e {11'; %}
| it - v, *ng [
olfn [ n | N\ew @

T rltgf} €D 1@&{ =
LL L L i T i
BK-36330A 1y i g = HiT .

L | M | R [REsms

BK-36301A [187| 40 |32.2 | M4X0,7X20 | 136|158 (158 | - |#8| 34 | 12 | 6.4 |83 | PT1/8"
BK-36003A 250|69.5 | 58 | M8X1.25X50 | 27.7 |33.3 |[36.5| - |4.8| 61 |19.7 |11.1 [10.7| PT1/8"
BK-36330A |347| 84 |51.5 | M10X1.5X65 | 26.6 | 41.3 | 34.9 |141.3| 8 | 74 | 30 |15.9 [12.7| PT1/8"
BK-305EA |306|77.2 | 75 | M12X1.7X65 | 34.8 | 41.3 | 41.3| - |8.7|66.7 |23.6 |15.9 |9.5 | PT1/8"

i } s
W wl=f
| =
)
_n.Da_
“ 1 é':
i
BK-702DA al 7 NN
T
- N p-h \é
R t
1
BK-702CA 260 | 185 103 80 | 27 | 8 | =8 58 | 12 | 38 | PT1/8

BK-702DA 315 315 142 110 34 | 13 B1 80 14 69 PT1/8”




